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, \'; a) A double decker bus is I8 % metres long.
| What is the total length of 12 double decker buses?

N\

b) Work out the missing numbers.

‘—“—‘x5=ﬁ
7 7
—, 315
7 7

Explain why | % x 4 is equal to 6 2,
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-U.mtS..-Fractlons (2), Lesson 2

Multlplylng a fraction by a fraction )

0 Zac is baking cookies.

a) The bag of flour is 1 full He uses 3 - of the flour in the bag

What fraction of the whole bag does Zac use?

N [=—

Zac uses D

of the bag of flour.

3

b) The bag of chocolate chips is %full.
Zac needs  of the chocolate chips.

What fraction of the whole bag
does he need?

L J () (]
OO0

Zac needs D
[

of the bag.
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_ | |
@ ‘a) Complete the diagram to worl out ¢ % 3

i
—_ —
5 3

L
n

b) Complete the diagram to work out 2 of 2.
O OO !
O i

ms to help you work out these calculations.

3 Draw diagra
7 in its simplest form.

Give each answer

together. What could the questions have been?

a) b)

) Is this stotement always true, sometimes true or never true?
Explain your answer,

‘When you multiply a proper fraction by another proper fraction,
the answer will be smaller than the two original fractions.’

The statement is because

T rs;:m:.wm.@

A proper fraction has a numerator | _‘
that is less than the denominator. é

i Ak A Y i

Draw a diagram to show why 3 x 2 = =.

- RAUE
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Multiplying a fraction by a fraction

@ a) Use the diagram to work out 2 x 3.

W

2.0
*

b) Reena says you can work oujt the
answer without drawing a diagram.

Explain how.

“ } Work out these calculations without using a diagram.

G)EXL_[ ;"f J=F JJ ]
e O B
2 3_L W"Lr 4; :r}
OO O .
S O L ) L
O] O LY

a)

b)
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No, the answer is %.

a) What mistake has Aki made?

b) Has Kate got the correct answer? Explain how you know.
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@ Use fractions to complete the number sentences.
> Find two different ways to get each answer.

L J L) s

) ( x[
a — X - Y
(I CJ" L
: }( J_IZ ( JX[ ;=B
O ik
c) 1x[ 1_2 [ ) :__j 2
(). OJLIJ LI

d = X = X =— - X ==X -
") OO =
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Use the diagram to work out

%,
0
.

'y

| Reflect

ot S T e

bescribe what you do when you multiply two fractions together.

Compare your method with your partner’s method. Is it the same or different?

1.

@ Use the diagram to show

a) A circle is divided into 6 equal parts.

Follow these instructions:
* Divide | of the sixths into 2 parts.
* Shade in | of the parts you have just made.

Whotr fraction of the circle is shaded?

1
6

2l
)

Q of the circle is shaded.

+ 2.

ul|—

N

U

l .
1:2,
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@ Use the diagrams to work out thege divisions.

+4

!
3

-F-\l—

L 3’
O

Write the calculations to match these diagrams.

[
[

(] |
b)_Lf+[:]=—f—
[ [
o

Find the missing numbers and fractions.

q)%+2=% d)%+5=%

b)l+6=% e)%=%+4
3
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What fraction of the whole pizza does each person get?

b) Emma has a chocolate bar. She eats % of the bar.

Each person gets of the pizza.

She shares the remainder equally with Max.
What fraction of the whole bar does Max get?

Max gets of the bar.

g R y .
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@ Find six different ways to make the calculation correct.

6+D=Z}é [:+D=$ I
O 50

| a) Kate shares % of a pizza equally between her and her two ﬂ‘riends.
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Dividing a fraction by a whole number @

@ This circle is divided into twelfths.
4 of the twelfths can be divided into 2 equal groups.
How many twelfths are there in each group?
There are D twelfths in each group.

Write this as a division.

4

2
12 C:]

@ Use the diagrams to help you work out the divisions.
& b) R ¢)

2

lt

0|00
e -
N
I

4.
3

7 o )

&) Work out these divisions.

SR
o
B
1

q)%+5=[_[__-__]:]— b)
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4J Write a calculation for this diagram.

S5

@ Work out these divisions.

0 5.s L S5, L
- g
b)§—3=C] d)“§_;2=l—_J
4 C] 15
Complete these number sentences.
q);+2=.l_ C)E_4_+ _—_2.. d)@_ =.£'_'..
5 5 15 15 45 45
L wz s, s
5 5 15 5 45 45
b)Q+3=_2_ 14 . =1 40 . _20
20 20 15 ) 45 45
]
20 20 15 ° 15 45 ° 45
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- A snail travels % km in 3 days. It travels the same distance each day.

What fraction of a km does the snail travel each day?

N3
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'8 J Mox is dividing a fraction by a whole number.

He simplifies his answer. Work out the missing numbers.

&M"_‘Em%ﬁ!"“"”;z P #

2 = — =
18 q 60 30 24
¥
Reflect |
Danny says i3+ 5 =%.

Explain the mistake Danny has made. What is the correct answer? Prove it.
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Dividing a fraction by a whole number €

o a) Use the diagram to help you work out 2 + 2.

) Use the diagrams to work out the divisions.

O) b)

14i




